Calcular Porcientos (C)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 2.409 es
1.6067

. ¢Qué porciento de 1.332 es
888?

. ¢Qué porciento de 7.347 es
2.4497

. ¢Qué porciento de 6.784 es
1.6967

. ¢Qué porciento de 1.032 es
7747

10.

;Qué porciento de 7.114 es
3.557?

;Qué porciento de 4.282 es
2.141?

;Qué porciento de 2.908 es
7277

;Qué porciento de 7.770 es
2.5907?

;Qué porciento de 2.208 es
1.4727?
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Calcular Porcientos (C) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 2.409 es
1.6067
66%5%

. ¢Qué porciento de 1.332 es
888?
66%3%

. ¢Qué porciento de 7.347 es
2.449?
33%5%

. ¢Qué porciento de 6.784 es
1.6967
25%

. ¢Qué porciento de 1.032 es
7747
75%

10.

;Qué porciento de 7.114 es
3.557?
50%

;Qué porciento de 4.282 es
2.141?
50%

;Qué porciento de 2.908 es
7277
25%

;Qué porciento de 7.770 es
2.590?
3315%

;Qué porciento de 2.208 es
1.4727?
66%3%
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